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Blank  sample | time,s | At,s  ODss 151, M A[ls]/At, MT? [H20:], M In[H,0;]

Time | ODiso  ODsso A[H202)/At, MT-
0 -0.132 0.041 0 - 0.173 6.654E-06 - 0.0005 -7.6009
5 -0.012 0.087 5 5 0.099 3.808E-06 -5.69231E-07 0.000503 -7.59523
10 -0.006 0.103 10 5 0.109 4.192E-06 7.69231E-08 0.000502 -7.59599
25 0.035 0.147 25 15 0.112 4.308E-06 7.69231E-09 0.000502 -7.59622
30 0.04 0.164 30 5 0.124 4.769E-06 9.23077E-08 0.000502 -7.59714
40 0.056 0.183 40 10 0.127 4.885E-06 1.15385E-08 0.000502 -7.59737
55 0.068 0.211 55 15 0.143 0.0000055 4.10256E-08 0.000501 -7.5986
60 0.093 0.247 60 5 0.154 5.923E-06 8.46154E-08 0.000501 -7.59944
65 0.07 0.232 65 5 0.162 6.231E-06 6.15385E-08 0.0005 -7.60006
70 0.086 0.25 70 5 0.164 6.308E-06 1.53846E-08 0.0005 -7.60021
80 0.099 0.276 80 10 0.177 6.808E-06 0.00000005 0.0005 -7.60121
90 0.098 0.282 90 10 0.184 7.077E-06 2.69231E-08 0.0005 -7.60175
95 0.103 0.292 95 5 0.189 7.269E-06 3.84615E-08 0.000499 -7.60213
175 0.139 0.392 175 25 0.253 9.731E-06 1.07692E-08 0.000497 -7.60708
200 0.156 0.419 200 25 0.263 1.012E-05 1.53846E-08 0.000497 -7.60785
220 0.174 0.446 220 20 0.272 1.046E-05 1.73077E-08 0.000496 -7.60855
265 0.191 0.481 265 45 0.29 1.115E-05 1.53846E-08 0.000496 -7.60994
315 0.238 0.551 315 50 0.313 1.204E-05 1.76923E-08 0.000495 -7.61173
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2mL0.1 MKI+2mL1IMH2S04+1mLH20
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2mL 0.1 MKI+2mL1M H;SO4 +0.75 mL H20 + 0.25 mL 5*10* H,0,
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FAF =1-R*=(1-0.972)*100% = 2.8 %
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